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QUESTION 1
The link aggregation interface can only be used as a Layer 2 interface () A. True
B. False

Correct Answer: B

QUESTION 2

A device has been configured to complete Telnet configuration. The device login address is 10.1.1.10. The Telnet user
name is admin and the password is Huawei (@123. The following is the correct way to log in to this device using
telnetli()

A. telnetlib.Telnet (10.1.1.0, 23, admin, Huawei@123)

B. telnetlib.Telnet (10.1.1.0)

C. telnetlib.Telnet 10.1.1.0, 23, Huawei@123)

D. telnetlib.Telnet (10.1.1.0, admin

Correct Answer: A

QUESTION 3

The election of the root switch in STP only compares the priority of the switch, while in RSTP, the priority of the switch
and the MAC address are compared at the same time. ()

A. True
B. False

Correct Answer: B

QUESTION 4

When the IPv4 protocol is used as the network layer protocol, which field is not included in the network layer header? ()
A. Source IPv4 Address

B.TTL

C. Destination IPv4 Address

D. Sequence Number
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Correct Answer: D

QUESTION 5

When the host frequently moves the office, which VLAN division method is most suitable? ()
A. Based on MAAddress division

B. Based on port division

C. Based on IP subnetting

D. Based on strategy division

Correct Answer: A
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